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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

C3 1. E)C3 	December, 2017 

LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 6. All questions 

carry equal marks. 

1. (a) Fill in the blanks in the following 
sentences : 	 4x1=4 

(i) The system of scientific naming of 
organisms is termed as 	 

(ii) 	 deals with the study of fossil 
records of plants. 

(iii) The evolution of cultivated plants has 
mostly been through 	which is 
a source of variability in which the 
chromosome number changes to multiples 
of the ancestral diploid number. 

(iv) The naturalist who thought of natural 
selection as mechanism of evolution at the 
same time as Charles Darwin did, was 
Alfred 	 
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(b) Expand any two of the following 

abbreviations : 
	

2 

ICZN, ICNB, ICVN 

Match the terms in Column A with those in 

Column B : 

Column A 	 Column B 

(i) Genera Plantarum I. Geologic time 

scale 

(ii) Paleocene II. Bentham and 

Hooker 

(iii) 	Naked seeds III. Star fish 

(iv) Echinodermata IV. Gymnosperm 

2. (a) Explain any five terms from the following : 	5 

(i) Taxon 

(ii) Interspecific sterility 

(iii) Key 

(iv) Fauna 

(v) Sexual dimorphism 

(vi) Radioactive dating 

(vii) Chemotaxonomy 
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(b) Write notes on any two of the following : 2x2 1  =5 

(i) Herbarium and its importance 

(ii) Reproductive Isolation 

(iii) Type specimens 

3. (a) What are wildlife sanctuaries and what is 
their importance ? Give the names and 
location of any two wildlife sanctuaries in 
India. 	 5 

(b) Name the five kingdoms into which all 
organisms have been classified by Whittaker. 
Give the characteristics of any two of these 
kingdomS and an example of each. 

4. What are variations ? Discuss the importance of 
sexual reproduction in producing variations. 	10 

OR 

What is industrial melanism ? Explain by using 
the example of the peppered moth, 
Biston betularia. 10 

5. Which geologic time period can human 
evolutionary history be traced to ? What were 
the major trends in human evolution ? Give the 
characters of Homo erectus. 	 10 

OR 

Explain Allopatric and Peripatric speciation 
highlighting the differences between these two 
modes of speciation. 10 
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6. Give an account of Homologous, Analogous and 
Vestigial organs with examples. Explain their 
roles as evidence of organic evolution. 10 

OR 

What is Numerical Taxonomy ? State its 
principles. Also describe briefly the procedure 
adopted by Numerical Taxonomists. 10 
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